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DATABASE MANAGEMENT SYSTEM
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Instructions :

1. The Question Paper is divided in five Units. Each unit carries an internal
choice.

2. Attempt one question from each Unit. Thus attempt five questions in all.

3. All questions carry equal marks.

4, Assume suitable data wherever necessary.

5. English version should be deemed to be correct in case of any anomaly in
translation.

6. Candidate should write his/her Roll Number at the prescribed space on the

question paper.
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g&E I (Unit 1)
DBMS &1 3-ciad 3Tfeheelel SEU oAZd del Udeh ®eh o 1l okl
Y] %“ﬁ'?l

Keys 1 ¥ ? 39k YHRI dfed avH ohifeg|
Draw the 3-level architectural diagram of DBMS and also explain the

function of each component.

What is keys ? Explain with its types.
AT (Or)
DBMS & oHwEM F1 & 2

Schema #1 & ? fa@r ¥ d=smu|
What are the applications of DBMS ?

What is schema ? Explain it in detail.

e II (Unit II)
ER-Afsal # attributes & fafy= TR & T ? ORI HERIOT AR
RIS |
TR Hieed H oM ¥ gWed ¥ 2 fafyw Red snuf@ ewr wteew &
SUH eV Wfed SRSl HifST |
What are the various types of attributes in ER-model ? Explain it with
example.
What do you mean by data models ? Explain various record based data

models with suitable example.
3{gar (Or)
g sl o fafi= ger wn € 2 Suia ISy
THFRET BT 7 THRl WG A it
What are the different types of mapping constraints ? Describe it.

What is generalization ? Explain it with example.
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a3 III (Unit III)
Loss-less join decomposition T Lossy join decomposition &1 § ? =weA
HITT |
4NF qe1 5NF ¥ §ReU R § S |

What are the loss-less join decomposition and lossy join decomposition ?
Explain it.
Differentiate between 4NF and 5NF with suitable example.
3{gar (Or)
RDBMS =t fafy= fovoad =1 2

What are the different characteristics of RDBMS ?

1 m sfea feooit fafew
Write short notes on :
(D Multivalued functional dependency

(2) Join dependency.
g&E IV (Unit IV)

fofv= DDL wd DML ®\mew 1 § ? =& &ifwg|

A OF T ? FA IOA wH o g O fafem
What are the different DDL and DML commands ? Explain it.

What are views ? Write the syntax for creating views with example.
3gar (Or)

SQL # Rewma dw Jfeed fied &1 HRelu A &It |

Explain relational and Boolean operators in SQL with example.
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b) Write short notes on :
(1) Updatable views
(2) Query optimization strategies.
T&E V (Unit V)
9. (1) PL/SQL # T wem Fn ¥ 2 = &gl
(7)) <eed fod w2
(a) What are the control statements in PL/SQL ? Explain it.

b) What are the database triggers ?
3gar (Or)

10. (1) PL/SQL ¥ TU HIA TI go-to HAA HT dAUA HIfwT |

(@) fof= vwR & =890 =1 = sl
(a) Describe loop statements and go-to statements in PL/SQL.

b) Explain different types of cursors.
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